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nnn

import numpy as np

#dBAF 0T~ e Wb, HARZA
def pivot():
1 = list(d[0][:-1]) #
jnum = 1.1index(max (1)) # ¥#HAYRE
m =[]
for i in range(bn):
if d[i][jnum] == 0:
m. append (0. )
else:
m. append (d[1][-1] / d[i][jnum])
inum = m. index(min([x for x in m[l:] if x !=0])) # ¥ Y TFFr
slinum - 1] = jnum # FEH3EALE
# HHrd
r = d[inum] [ jnum]
dlinum] /= r
for i in [x for x in range(bn) if x !'= inum]:
r = d[i][jnum]
d[i] —= r * d[inum]

def solve():
flag = True
while flag:
if max(list(d[0][:-1])) <= 0: # HEMARLNTET O
flag = False
else:

pivot ()

def printSol():
for i in range(cn - 1):
if i in s:
print ("x” + str(i) + ”"=%. 2f” % d[s. index(i) + 1][-1])
else:
print ("x” + str(i) + ”7=0.00")
print ("objective is %.2f” % (-d[0][-1]))



. b . b
if name == main__ :

d = np.array([[25, 30, 0, 0, 0, 0, 0, 0],

[2, 3, 1, 0, 0, 0,
[6, 5, 0, 1, 0, 0,
[3, 4, 0, 0, 1, 0,
[1, 0, 0, 0, 0, 1,

[0, 1, 0, 0, 0, 0,
], dtype=np. float)
(bn, cn) = d. shape
s = list (range(cn — bn, cn — 1))
solve ()
printSol ()
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